Geometry

Unit 2A: Similarity, Congruence and Proofs

Notes
|

; Intro to Proofs (Algebraic)
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ale a chain of logical steps that move from the hypaothesis to the
conjecture is frue,

conclusion of the conjecture you ore proving. By proving the conclusion is true, you have proven the original
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When wiiting a prool, it is important fo justity each logical step with a reason. You can use symbols and
abbreviations, but they must be clear enough so that anyone who reads your proof will understand them.

Properties of Equality/Algebra Properties

Properties of Equality Property

Ca=0,Wen axe=ove |

Addition Property of Equality

Subtraction Property of Equality

© 0= 0 A 0-0= 0-O |
Multiplication Property of Equality \$ oz o, YN O L= o ¢ “
Division Property of Equality % 0= 0 a W\QS\ % - % J
Distributive Property O\L\O‘\’ Q - Q\D +* OC J
Reflexive Property O = Ou J

Transitive Property W G=A9) m o= ¢ \M O\: C

Symmetric Property

Substitution Property

Associative Property O\ & UO-\( C,\ - L(l_*b X CJ

Commutative Property 0N _\,\O — b X (/\ J
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Geometry Unit 2A: Similarity, Congruence and Proofs Notes
I-Do: Name the property or equality that justifies each statement

-.l.lfUV=KLOnd KL=6,then UV =6
FON

3. £ABC=z= 2£ABC

Y\

2. 1fmel + mes2 =mesd +me2, then msl = me4
4, 1f = mLD 45, then mesD = 90.

W\\U&\Q\\C(ﬁ( QM

I-Do: Use the property to complete each statement.

5. Reflexive Property of Congruence

6. Substitution Property

If AB =2, and AC = AB +BC, then AC = a "r&§ )

TR = IR
We-Do: Identify the Property of equality that justifies the missing stepl(s) to solve the equation.
Example 1.
Equation Steps
Ixe+ (v=8] = Criginal Equation
x-8=12 Associative property of Aadition
N [ AGORN  PERBAY)
6= AN
Example 2:
Equation Steps

-6 =20 —{x+ 4)

QOriginal Equation

H=3x—-—x-4

ANV

Simplify or Combine Like Terms
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Geometry Unit 2A: Similarity, Congruence and Proofs

Notes
Bridaing from Algebraic to Geometric
\ Qeractice #1: STATEMENTS REASONS
,;vsm mn: 4«,( e R= U0 G
Q0L =R QAR
PROVE: x = 7 s + oy \BY @W’\*@v\m
Sy -0z |mrnone like eem
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Practice #2; STATEMENTS REASONS
GIVEN B = BC.CD = BC B = 8L Gwen
A 21 B C & 1D ™ 2w 6\\{6[) -
) 8% X Ty [ ipTrrusad
PROVE: x = 6 = - S DQ(DI\C\E\W
"QWhat s the length of AB? ML = Ux-\) | QUoSInuson P
. ™=V B | pogiion PeBy:
- Vo = SO TROBAIN Y-
What Is fhe_eia_rigth of CD? = X CRAGON © ,
CO=\D Xz \» @Wmm&ﬂcﬁ%?
Practice: #3
GIVEN: ZABD and £ BDE are alfernate inferior angles. —— .
RO ;ﬁf? Cziven
2&&92@5&f&£o€wwix&
AN +\O = 3x-15 SU\bG'\’\‘lU/'Hm W
Prove: m/DBC = 120° I ¥ = BX

p 5= R
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(@CIVEN ST = SR.OR = 8K ‘&‘:\’L_Y S% G
s g G~ Se Griven
i ST 2 R TondRie
Prove: x = | 5(‘3)(_95 = x4 ‘%\md"\'\'\\ﬁ\’\m
By - 0T X [ Dot
Wy A= [ SulorosadN wep
WUy = \9 | RO Yeep:
ek TN PROP
Practice: #5 STATEMENTS REASONS
GIVEN: WX = YZ X = Y2 e

Y is the midpoint of XZ .

O O O
Y X Y Z

f‘-,.’rove: WX = XY
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